[ normalized x? probability |

107}

1072

107

AR N

‘o +0 e e i A e
¢ (A MR
214 ROGHHAHEIEOOEHN o
EEEEEEEE LD LD LEED
IR R R e B Mg
09¥0—2"4 6 8 10 12 14 16 18 20 09%70.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
2 Prob(x?)
== DQM_V0001_R000000001__Global _CMSSW_orig
= DQM_V0001_R000000001__Global__CMSSW_pl08
s DQM_V0001_R000000001__Global _CMSSW_pl075
e DQM_V0001_R000000001__Global__ CMSSW_pl07
5 p—
% S E
< a1sf nAE
= 2 3F
\ - E
1.9 3
s 2
1.4 Voo
1.2F -
_1;_.
1 o3
osgf -3f-
0.6F 3 ;
o+ L ' '
T T
24 @
1 i o
095 083—= 1 0 T 3
TP n (PCA to beamline)
A A -
E 2 18fF-
% < 1.6F-
\ v o
1.4~
1.2F
-
0.8F-
0.6F
0.4F
0.2F
2 o O
5 5
14 a4
0.5
C_3 . L
10 1072

-1
AR(track, jelts)

5
- 5
S}
A
Y| S M Y !
2
Q._
o 3 -
v




	Contents
	Page 1


